26.12.2024 YETBEPT
I1/0: 22 (232 M/233m), 32 (112m), 34 (124m/125m), 35 (121 m/boTocTymus)

[penonasare/ o 1 2 3 4 5 6 7 8 9 10
KaOMHET
bormapp M.B. k.407 uHG.q 11 BA
[Inaxtunesa O.I1. x.406 nap.u| 23 PA 23 P 21 PJI 23 PA
bymanaenko H.E.x.217 21 a 31 MuD | 31 [MuDd | 36 IIudD
byxmnoBa O.b. x.408 nap.a| 2la
boponuHa A.H. x.410 nHp.9| 12reor | 24 UBb | 12r1eor | 12reor | 21 Ub | 24 Wb | 24 UB
[Epoxuna B.B. x.405
Kosanésa H.JI. k. 404 uHp.g 26 26 21 23 23 23
IToBHepoBa M. A. k. 401 nap.a| 15¢ 130
Comonkas E.B. k312 nHG.9| 13 o6y | 26 o6mr | 13 o6
Jlenast H.B. k 221 32 d/c| 35¢/c | 33KD | 23c/T 11 c/t IXKI | 1XKI | 32c¢/T
Boroymunk JI.B. k 402 nad.a| 34 0D 3300 146 13 MIT 34 O0C | 34 O0C
PPasunskoB H.C. uHb. g 36 21 21
Putnkos U.W. MH}.4 12 1 A | 1 O 36 35
Mureps A.B. uHp.g 33 15 1 A | 1 A1 14 32
CocHoBckast M.B.
Kymuunos A.B. k 303 33 c/t| 32 1/x0p 33 ¢/t 13 1/x0p
Hosuk 1.B. k. 309 31 d/o| 31 d/o | 33KI 31d/c | 31d/c | 31 d/o | IXKD | 1IXKI | 3lc/t
1 Anv | 1 4
'paboBua M.U. k. 310 uHO. 4
KOM KOM
1 AT | 1 AN
Kynaxenko 1.A. A A
KOM KOM
banaun B.JO. k. 311 uHd.4|36 c/p np|36 c/p mp 33 puc | 33puc | 33 puc | 33yep | 33 uep
)Azapenxo H.W. k.115 ud.u| 14uep | 14m/B | 14c/t | 24puc | 24 m/B 33uep | 33 uep
Konenkosa A.C.m.112
b .M. k.240 1 X x 1 X x 1 X x 1 X x X X
panar XK.M. k. UB UB UB 1B OKull | OKull
K E.IL x.231 1 XxuB |1 XxwuB |1 X xwus | 1 X xuB X bx
ynpunk E.I1. k. uHO. 9 OKull | OKull
[[lenenesuu E.b. x. 409 uag.a| 1 Apuc | 1 Jpuc | 1 Jpuc | 1 [ puc
Mutekesrmy O.10. x.304 uHO. 9
1 A | 1 O
Cuopos K.H., k. 302 ung.a| 1 Apuc | 1 Jpuc | 1 dpuc | 1 [ puc ﬁl/l ﬁl/l
36
Hawmraynac JI.A.x 220 MILITT 21m/B | 15m/B | 11 M/B
Ckoitbena A.A.k 215 uHd.4|36 c/p np|36 c/p mp 24 puc | 33 puc | 33 puc | 33puc
36 TILIT| 31 TUIIT |36 TILIT
Heckoponosa C.I'. 36 TILLIT 407 407 407
Cuonok A.10.
Kanurta A.A.
11 obop | 11060p 13 obop 13 o6op
[[licyparosa J1.B. 227 | 227 227 227
36 KO | 36 KO
lop6au A.C. 220 220
24 OCXK
Konpgpatiok O.B. 405
Crnopnobaesa E.A.
Xamouenko B.A.
bponos JI.B. 109
bemkapesa H.M.
[Mamapyk E.H.
Cxpebyk A.H. 24 11 3121;%-[’}1
0] 1 2 3 4 5 6 7 8 9 10




